1 Run Number 61440

This table shows the results of my last iteration.

Comparison of time residual means

Time re=szidual mean=s (microns)

SL1 SLz2 5L3 5L4 5 5 v .
Smcl 1s 1= -a -24
Sec? 1z z1 -G -11 -5 -34 -4
Sec3 15 [ -2 1 -33 a8
Secd 20 20 o - -z1 -15 ]
Smch 1= Z0 o -7 5§ =20
Seck 11 27 -4 -23 -18
avg. 27 1% -z o -4B -47 -10
Results with modified user ana
Time residual means (microms )
L1 L1 1A Si4 SLS LA ang.
St 14 11 9 -1 a1 75 25
S 10 19 K -11 -10 -5 -
Sact a4 13 4 -3 -4 13 4
Sacd 19 18 -1 v -15 -14 0
Secs 11 17 -2 -10 -6 S8 -13
Sect 33 23 5 22 76 -4 -18
p— 24 17 3 ] 39 A7 0
2 Run Number 61935
This table shows the results of my last iteration.
Time reszidual mean=s (microns)
SL1 SLZ SL3 SL4 SLS5 SLE g .
Secl 30 -1 -6 -16 -3
SmcZ 23 35 -B -17 -17
Sec3 45 1 —22 -25 -10
Secd 23 2 -1 -1z -G =5
Sech az 2 -5 -z1 : -17
Smch 48 4 -5 -27 -24 -7
arg. 35 25 -3 -1E -51 -51 -10

Results with modified user ana




Time residual means (microns)

LN

sL

Sl4

LTE]

ang.
St 27 26 0 ] -16 56 3
2 15 3 T 17 2 -1 -17
S 42 n 3 -0 76 - -0l
Sk 20 21 A -12 T -21 0
s 7 73 & a0 - -2 -18
St 41 21 5 27 -25 -58 -
pu— 31 ] a 16 50 T} BT



